
1   

ITEM QUANTITY DESCRIPTION TOOLS NEEDED 

1,2 2 STEP BAR ASSEMBLY (1 DRIVER, 1 PASSENGER) 10MM SOCKET 

3 6 MOUNTING BRACKET 10MM WRENCH 

4 6 PLASTIC BRACKET COVER 13MM SOCKET 

5 6 M8 BOLT PLATE 13MM WRENCH 

6 12 M8 HEX HEAD CAP SCREW (YELLOW ZINC) RATCHET 

7 12 M8 SPLIT LOCK WASHER (YELLOW ZINC) TORQUE WRENCH 

8 12 M8 FLAT WASHER (YELLOW ZINC) 

9 12 M8 SPLIT LOCK WASHER (BLACK ZINC) 

10 12 M8 HEX NUT (BLACK ZINC) 

11 12 M8 FLAT WASHER (BLACK ZINC) 

12 12 M6 HEX HEAD CAP SCREW (YELLOW ZINC) 

13 24 M6 FLAT WASHER (YELLOW ZINC) 

14 12 M6 NYLOCK NUT (YELLOW ZINC) 

ANTI-SEIZE LUBRICANT MUST BE USED ON ALL STAINLESS STEEL FASTENERS TO PREVENT THREAD DAMAGE AND GALLING 

CONTENT 

INSTALLATION INSTRUCTIONS 
THRASHER BOARD 

APPLICATION: 

2019 Chevy Silverado/GMC Sierra 1500 

Crew Cab / Double Cab 

PART NUMBER:  

28-81275, 28-81265

ITEM 2 

ITEM 4 ITEM 3 

Driver Side Opposite 

https://www.carid.com/westin-automotive/


 

2   

PROCEDURE 

1. Remove contents from box, verify if all parts listed are present and free from damage.

Carefully read and understand all  instructions before attempting installation.

Failure to identify damage before installation could lead to a rejection of any claim.

2. Starting on the driver side, remove the rubber plugs located on the rocker panel at each mounting location. See Figure 1.

3. For models with threaded holes: At each bracket mounting location on the rocker  panel, there should be a welded

factory nut.

4. Loosely preinstall the Bracket Covers (4) to the Mounting Brackets using the included M6 Hardware. See Figure 2.

5. Partially install the M8 Hardware in the bottom of the rocker panel and then slide the Mounting Brackets (3) into place and

install the remaining M8 Hardware. See Figures 3 & 4.

16 17 18 7 12 13 14 4 

Figure 1 

Driver Side Rocker Panel 
Front 

Mounting Locations 
Passenger Side Opposite Figure 4 

Driver Center 

Location shown 
Figure 2 Other locations 

similar 

Preinstall hard-

ware and slide 

bracket into 

place. 

Figure 3 



3   

INSTALLATION COMPLETE 

6. For Step Board installation to the previously installed mounting brackets, use the supplied M8 bolt plates and M8 hard-

ware. Slide bolt plate into the board rail located underneath the step board, then loosely install with M8 hardware. See Fig-

ure 5.

Figure 5 

5 

3 
9 

10 

11 

Learn more about running boards and step bars we have.

https://www.carid.com/running-boards.html



